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B e of e o s
= CoFrecty 7 Lo given above
r Llﬁlﬂ lony
1 and 3 only
F = ? Purpose of Inter-Creditor

perernlial burden of fiscal deficit
and current account deficit

R J:l‘ ‘lh ‘support the infrastructure
- Projects of Central and State
- Governments

To act as independent regulator in
case of applications for loans of
& 50 crore or more

.‘,'1.’_"r" 1 i . .
0 aim at faster resolution of

ﬁ( BF  ensure cé’mpehtlveiﬁafketsfor gas

¥y Py .nj,

! k

: o8 1B AT Sk
yne of the tasks of PNGRB is
Otg gf t%e tasks o

3

i LT
; i By
':' ‘('4‘_ 3 ‘-’Jl:ﬂ"n“ ~ ! 1

e 3M‘Appe§1‘fs agamst the ll decisio!;ggl,g,f; '

PNGRB go before the Appellate
Tribunals for Electricity.

LUk s
LLRRS

Which of the statements given above are
correct? :

(@ 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

I (2 L

,/SW With reference to communication

1 ieiinolonice AL Lis/aiE G
difference/differences between LTE
(Long-Term Evolution) and VoLTE (Voice
over Long-Term Evolution)?

1. LTE is commonly marketed as 3G
and VoLTE is commonly marketed
as advanced 3G.

2. LTE is data-only technology and
VoLTE is voice-only technology.

Select the correct answer using the code
given below.

(@)1 only

(9/ 2 only
(c) Both 1 and 2
Neither 1 nor g

- (prO.
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Recycled Plaatic ;
o) Mpringandliscge) Rules,]

: (@)f‘.- The e-Waste (Management and
~ Handling) Rules, 2011

(@) The Food Safety ang Standard
Regulations, 2011

R The economic cost of food grains to the
Food Corporation of India is Minimum

Support Price and bonus (if any) paid to
the farmers plus

(@) transportation cost only
(b) interest cost only

A .
(¢) procurement incidentals  ang
distribution cost

(d) Procurement incidentals and
charges for godowns
,-""'-\\
B ot rehe following is not o 10, In the context of any country,
dex of the World Bank’s ‘Base of e of the following would be cg

iness Index™ part of its social capital?
usiness Index

which one
nsidered as

(@) The proportion of literates in the
opulation
of law and order i

b
\intenar

T
roa

(b) The stock of its buildings, other
infrastructure and machines
taxes

19)/ The size of population in the
S : working age group |
k- pmpqrtx g The level of mutual trust and
b th construction permits harmony in the society
" d BRERR G v o
5 i
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11 Nation
ATA Q
(1€
% Skill Development Mission
H‘!'ki‘t ‘ Ji e ‘E
N 18 L | Uy

> the Management of
iy Igslla, Consider the
g "

; 'n'gcvemments have the power

leases of minor

e}'ﬂgnerits have the power
e rules to prevent illegal
of minor minerals.

the statements given above
Ir "ct?'l"’;-' ' o

3 only

£
. -

only

. ;M{Aoth 18082 ¢ o

¥ g % =T 5!’%
of the statements given ¢

(a) Lonlyil) ol HERET
(b), 2eotlye§ whims ity

(d) Neither 1 nor 2 Sl

14. Which of the following is not included in
- the assets of a commercial bank in
India?

(@) Advances
Deposits
(¢) Investments

(d) Money at call and short notice

1@) In the context of India, which of the
following factors‘,- is/are contributor/
contributors to reducing the risk of a
currency crisis?

1. The foreign curren,

Cy earnings of
India’s IT sector

2: Increasing the
expenditure

3. Remittances from Indians abroad

government

Select the correct answer using the code
given below.

(@) 1 only

1 and 3 only
{e) 2 only
(d 1,2 and 3

[ PR
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e i ET e ol B e
b (a) First Admm@,stmﬁver
| ﬁ e Comxmssxon (1966)
(b) 'Rajamannar Committee (1969)
Sarkaria Commission (1983)

(d) ‘1:,:11;21:1 Commission to Review the
rXing of the Constitution (2000)

Reforms

Which of the following is issued by

regis
o‘:l tered foreign portfolio investors to
rseas investors who want to be part

‘of the Indian stock market without
- registering themselves directly?

5(9)} Certificate of Deposit
- (b) Commercial Paper

' omissory Note
Participatory Note

As per law, the Compensatory
Afforestation Fund Management
and Planning Authority exists at
both National and State levels.

~ People’s participation is mandatory

in the compensatory afforestation

-ammes carried out under the

: pensatory Afforestation Fund

, 2016.
of the statements given above

s Parliamentary Department Re

telccommumcatxons, msurancc,

l&ﬁ triclty, etc.? b

f’" Ad Hoc Commlttees set up by the ,
Parliament

lated

~ Standing Committees

3 Finance Commission

4. Financial Sector
Reforms Commission

5. NITI Aayog

Select the correct answer using the code
given below.
(f 1 and 2
(b) 1, 3 and 4
3, 4 and 5
(d 2 and S

Legislative

20. With reference to India’s Five-Year Plans,

which of the following statements is/are

correct?

1. From the Second Five-Year Plan,
there was a determined thrust
towards substitution of basic and
capital good industries. '

2. The Fourth Five-Year Plan adopted
the objective of correcting the
earlier trend of increased
concentration of wealth and
economic power.

3. In the Fifth Five-Year Plan, for the

first time, the financial sector was
included as an integral part of the

Plan.
Select the correct answer using the code
given below.
(@ 1 and 2 only
(b) 2 only
(c) 3 only
d 1,2 and 3

(PT.0.
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by the Supreme Court of
TEIFB:

: pktl"iemenh

!'rect? ‘given above
. "Eﬂf:-nf- F

EWheiiror o

thland2

t Qf »goods and services in

1

’ M o( }eotton cultlvanon ia more

than that of sugarcane.

i vl{""""ﬁ.v; ‘Area under sugarcane cultivation

has steadily decreased.

' Which of the statements glven above are
correct?

(@) 1 and 3 only

(b) 2, 3 and 4 only

() 2 and 4 only

(d 1,2, 3 and 4

@ Among the agricultural commodities
imported by India, which one of the
following accounts for the highest

imports in terms of value in the last
five years?

(a) Spices
(b) Fresh fruits

/ch‘ Pulses

Jd)’ Vegetable oils

25. In the context of polity, which one of the
following would you accept as the most

appropriate definition of liberty?

(@) Protection against the tyranny of
political rulers

(b) Absence of restraint

() Opportunity to do whatever one
likes

(d)- Opportunity to develop oneself fully

[PT.0.
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ﬁ m | . SpE ¥ S :
ﬁé)‘*‘[&@%ﬁi%f grave financial crisis
;m‘rﬁ . in the country, the President of
. Flndiav ‘can declare Financial

Emergency w1thout the counsel
# FER- 5% rom the Cabmet.

~ (d) State Legislatures cannot ma‘ké
Konda Redd; tribes are 5 9 laws on certain matters without the
d in the list of PVTGs. - concurrence of Union Legislature.

s tatgments given above are

: 33. With reference to the Legislative
Assembly of a State in India, consider
the following statements :

1. The Governor makes a customary
address to Members of the House
at the commencement of the first
session of the year.

2. When a State Legislature does not
have a rule on a particular matter,
it follows the Lok Sabha rule on

® ' that matter.
to the Constitution of Which of the statements given above
itlons or. limitations or is/are correct?
- ,;v'ed m ordmary laWS

'-tlonal powcrs under (@ 1 only
d mean which one of

(b) 2 only
(¢ Both 1 and 2

(d) Neither 1 nor 2

(P.T.0.
15
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2006 allows ownershlp of nnnor
~ forest produce to forest dwellers.

Which of 'the statements given above
is/are correct?

3 (@) 1 and 2 only
C) is mandated

ber States to assist in

1on of both UNCAC (b) 2 and 3 only
BLr s (c) 3 only
ments given above are
(d 1,2 and 3

36. Which Article of the Constitution of India

safeguards one’s right to marry the
person of one’s choice?

(a) Article 19

Mle 21

(c) Article 25
(d) Article 29

[PT.0.

Scanned by CamScanner



Fsr

OWing statements :

tection Act, 1986
mmment of India to

irement of public
in the process of
nt g‘rll:?t{qct:lon,_ and the
e and manner in which it *

for

of

its  from
given above

_ vifle FOhEE

- and all industrial townships only.
"~ (¢ The Rules provide for exact and
~ elaborate criteria for
identification of sites for landfills
and waste processing facilities.

- (d) 1t is mandatory on the part of waste
generator that the waste generated

in one district cannot be moved to
another district.

40. Consider the following statements :

As per the Industrial Employment

(Standing Orders) Central (Amendment)
Rules, 2018

1. if rules for fixed-term employment
are implemented, it becomes easier

for the firms/companies to lay off
workers

2. no notice of termination of
employment shall be necessary in
the case of temporary workman

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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'.':L":.""H.’., :.. . . SR, %
text of digital technologies for
Nt consider the following
 emuagg et Realiy am,
ATHE and F;d‘ﬁnﬁronmen't is created
. ~ e phvs; W R
| Qompletely Shity::ftal world s
2. In Virtua) Reality (VR) Pimages
projected i o BPUSCKhare

Onto real-life opi t

Surroundings, JPets or

cldses the
A £ ~ World, apqg
| transpose§ an mdividual, Providing
complete Immersion €xperience

Tg.fwmch of the statement
~ is/are correct?

- (a) ,1 and 2 only
. W 3and4

(¢ 1,2 and 3
'.Il.ir!\ {40,I-l.l{y

The word ‘Denisovan’ is sometimes
mentioned in media in reference to

L geological period in the history of
dian subcontinent

reference to  the  recent
lents in science, which one of
g statements is not correct?

d by joining segments of DNA
from cells of different

of artificial functional DNA
created in laboratories.

(o A piece of DNA taken out from an
- animal cell can be made to replicate
outside a living cell m a laboratory.

~Cells taken out from plants and
animals can be made to undergo

cell division in laboratory petri
dishes.

-
447 Consider the following statements :
A digital signature is
1. an electronic record that identifies
the certifying authority issuing it
2. used to serve as a proof of identity

of an individual to access
information or server on Internet

3. an electronic method of signing an
electronic document and ensuring

that the original content is
unchanged

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 and 3 only
(c) 3 only

(@ 1,2 and 3

45. In the context of wearable technology,
which of the following tasks is/are
accomplished by wearable devices?

1. Location identification of a person
2. Sleep monitoring of a person

3. Assisting the
person

hearing impaired

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 and 3 only
(c) 3 only

(@ 1,2and3

= [PT.0.
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o 2and 3 onl
FREIE (rl{}) ol L _’y(
sopwiics (@il 3 andd

(d 2,3and4

""l',"). ¢

: s ‘?"% ,:T. {5 )
rect answer using the code i : -
' 49. What is Cas9 protein that is often

mentioned in news?

(;1}’ A molecular scissors used in
targeted gene editing

(b) A biosensor used in the accurate
detection of pathogens in patients

() A gene that makes plants pest-
resistant

(d) A herbicidal substance synthesized
in genetically modified crops

5 Which one of the following statements is

aves’ were detected. ROt correct?

er-galacti
e e;ﬁmﬁo;. sp‘::: {a)” Hepatitis B virus is transmitted
T much like HIV.
_‘Ct - — : ,“I. ; J.E; i} i »
Te ﬁ_ﬁé Isc;é;':ﬁsts to (bi/ Hepatitis B, unlike Hepatitis C,
' df qu ty’ - does not have a vaccine.

iRk (c) Globally, the number of people
infected with Hepatitis B and C
viruses are several times more than
those infected with HIV.

(d Some of those infected with
Hepatitis B and C viruses do not
show the symptoms for many

. o years. ' '

o

[ P.T.O.
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“*Mahatma Gandhi
d iﬁ«fd’? f ,.F;‘;‘:: :

: Swami Sahajanand
- Saraswati
“t',_ S E V. Ramaswami
~ Naicker

- given above is/are

16 B penhoT
b T

wing is not a

(d) SOhgaura:' R ‘ o R :

59/:onsidei- the following :
1. Deification of the Buddha

2. Treading the path of Bodhisattvas
3. Image worship and rituals

Which of the above is/are the feature /i
features of Mahayana Buddhism?

1 and 2 only

(c) 2 and 3 only
(d 1,2 and 3

With reference to forced labour (Vishti) in

India during the Gupta period, which
one of the following statements is
correct?

(@ 1t was considered a source of
income for the State, a sort of tax
paid by the people.

(b) It was totally absent in the Madhya
Pradesh and Kathiawar regions of
the Gupta Empire.

The forced labourer was entitled to
weekly wages.

(d) The eldest son of the labourer was
sent as the forced labourer.

(P.T.0.
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(b) pncclevels fromS‘_"_t«'e’ ﬁe
"L\’: "l"‘ “Ya‘r\'ly" i{'l!:},:q} ‘%

Jé) Gross rState@Productwaﬁ,gs
State to State

(d) quality of public distribution varies
from State to State

65. In the context of which of the following do
some scientists suggest the use of cirrus
cloud thinning technique and the
injection of sulphate aerosol into
stratosphere?

(a) Creating the artificial rains in some
regions

(b) Reducing the frequency and
intensity of tropical cyclones

(c) Reducing the adverse effects of
solar wind on the Earth

.
1.
A

River (d) Reducing the global warming

Chandrabhaga
i : Cauvery 66. In the context of which one of the
. Malaprabha following are the terms ‘pyrolysis and

plasma gasification’ mentioned?

given above are ction of rare earth clements

(@) Extr

(b) Natural gas extraction technologies

(c) Hydrogen fuel-based automobiles

(d) Waste-to-energy technologies

\?.’\‘.0.
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Mahseer

2. Irrawaddy Dolphin

3. Rusty-spotted Cat : Eastern hats I

Which of the . . i
pairs given above are
Correctly matched?

(@) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2 and 3

70. Why is there a great concern about the
‘microbeads’ that are released into
environment?

snakes are

(@)~ They are considered harmful to
marine ecosystems.

ments given above are . _
(b) They are considered to cause skin

cancer in children.

(c) They are small enough to be
absorbed by crop plants in irrigated

fields.

(d) They are often found to be used as

food adulterants.

[PTO. -
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ollection was known as

m {TV Ay \
a system of Sultans of Delhi

an ancient indigenous
.’n.
§ {Tael s
“‘Mir Bakshi’ came into
luring the reign of Khalji

of Delhi.

statements given above
o B

ﬂ,‘},@,tcments :

ka was a contem-
B Ly Y
bir was grcatly o
ements given above
m‘ y ] ;.3,'.7“’7

B i 011
SLL -
3

2
= i
kY

W—W? {in
S 3

74, With reference to the British colonial

rule in India, consider the following

statements :

1. Mahatma Gandhi was instrumental
in the abolition of the system of
‘indentured labour’.

‘2, In Lord Chelmsfords ‘War
Conference’, Mahatma Gandhi did
not support the resolution on
recruiting Indians for World War.

3. Consequent upon the breaking of
Salt Law by Indian people, the
Indian National Congress Wwas
declared illegal by the colonial
rulers.

Which of the statements given above are
correct?

(@) 1 and 2 only

(p) 1 and 3 only

(/" 2 and 3 only
(d 1,2 and 3

75. With reference to Indian National
Movement, consider the following pairs :

Position held

Person
1. Sir Tej Bahadur : President, All India
Sapru Liberal Federation
2. K. C. Neogy : Member, The

Constituent Assembly

. General Secretary,
Communist Party of
India

3.. P. C. Joshi

Which of the pairs given above is/are
correctly matched?

(@) 1 only

(f 1 and 2 only
(c) 3 only

(@ 1,2and3

[P.T.O.
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ooy < Departr_nent of Science and
 Technology

(b) Ministry of Labour and
Employment

(c) NITI Aayog

{g)/Ministry of Skill Development and
Entrepreneurship

80,\ On 21st June, the Sun

(a) does not set below the horizon at
the Arctic Circle

(b) does not set below the horizon at
Antarctic Circle

@/ shines vertically overhead at noon
- on the Equator

™ d)/shines vertically overhead at the
Tropic of Capricorn

[P.T.0.
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=T %sm@’atﬂe _Telease  ammonia  into

environment,
! 3” Qo:lcznmdustry releases reactive
S compounds into

= envuonment
At Ly

Whlch of the statemen
t
1s[ afe correct? ’ EREliga; above

(a) 1 and 3 only
- (b)) 2 and 3 only
(9 2only

% 1,2 and 3
Ry

What is cemmon to the places known as
- E@W Isapur and Kangsabati?

~ (a) Recently
“deposits

| Tropical rain forests
Underground cave systems

discovered uranium

Water reservoirs

o e;mntext of proposals to the use of
n-enriched CNG (H-CNG) as fuel
r buses in public transport, consider
owing statements :

The main advantage of the use of
1-CNG is the elimination of carbon
~ ‘monomde emissions.

NG as fuel reduces carbon
and hydrocarbon

gen up to one-fifth by volume
pq blended with CNG as fuel

fuel less

Which of the statements given above
is/are correct?

(@) 1 only

2 and 3 only
(© 4 only
(d 1,2, 3 and 4

8& Why are dewdrops not formed on a
cloudy night?

(@) Clouds absorb the radiation
released from the Earth’s surface.

(b)” Clouds reflect back the Earth’s
radiation.

(c) The Earth’s surface would have low
temperature on cloudy nights.

(d) Clouds deflect the blowing wind to
ground level.

85:1x Consider the following statements :

1. The 44th Amendment to the
Constitution of India introduced an
Article placing the election of the
Prime Minister beyond judicial
review.

2. The Supreme Court of India struck
down the 99th Amendment to the
Constitution of India as being
violative of the independence of
judiciary.

Which of the statements given -above
is/are correct?

(@) 1 only

(b)/ 2 only

(e Both 1 and 2
(d) Neither 1 nor 2

[PT.0.
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‘ 9@,13*,;.;13ie1‘i31: ‘the following statements -
4 1. The motion to impe

;hee Sl.zpremg Court of India cannot
. 2¢ rejected by the Speaker of the

qu Sabha as per the Judges
(Inquiry) Act, 1968,
3fl‘he~-C0hstitution of India defines
.“ 8 and | gives  details of what
s & B _co.nstitutes ‘incapacity and proved

misbehaviour’ of the Judges of the
Supreme Court of India.

The details of the process of
impeachment of the Judges of the
Supreme Court of India are given in
the Judges (Inquiry) Act, 1968.

If the motion for the impeachment
of a Judge is taken up for voting,

- the law requires the motion to be
backed by each House of the
Parliament and supported by a
majority of total membership of
that House and by not less than
two-thirds of total members of that
House present and voting.

ach a Judge of

S—

Which of the statements given above
is/are correct?

(@) 1 and 2
] (b) 3 only
:  (¢)” 3 and 4 only

. ?(4)/1, 3 and 4

. The Ninth Schedule was introduced in
~ the Constitution of India during the
~ prime ministership of

Jawaharlal Nehru
Lal Bahadur Shastri
Indira Gandhi

) Morarji Desai

39

yConsider the following statements :

1. Coal sector was nationalized by the
Government of India under Indira
Gandhi.

2. Now, coal blocks are allocated on
lottery basis.

3. Till recently, India imported coal to
meet the shortages of domestic
supply, but now India is self-
sufficient in coal production.

Which of the statements given above
is/are correct?

faj 1 only

(b) 2 and 3 only
(c) 3 only

(d 1,2 and 3

89. Consider the following statements :

1.- The Parliament (Prevention of
Disqualification) Act, 1959 exempts
several posts from disqualification
on the grounds of ‘Office of Profit’.

2. The above-mentioned Act
amended five times.

3. The term ‘Office of Profit’ is well-
defined in the Constitution of India.

was

Which of the statements given above
is/are correct?
(@) 1 and 2 only
(b) 3 only
(c) 2 and 3 only
(d 1,2 and 3
900. Under which  Schedule of the
Constitution of India can the transfer of
tribal land to private parties for mining
be declared null and void?
(@) Third Schedule
(b) Fifth Schedule
" (c)/ Ninth Schedule

(d) Twelfth Schedule

(P.T.0.
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4 lg’gw&x;g States

&

A “

P}adeéh 2

ce to the States mentloned
rms of percentage of forest
. total area of State, which

mw; is the correct

W‘m?f —
La.rge depos1ts of ‘methane hydrate’

are found in Arctic Tundra and
under the seafloor.

3. Methane in atmosphere oxidizes to

carbon dioxide after a decade or
two.

Select the correct answer using the code
given below.

 (a) 1 and 2 only
~ (b) 2 and 3 only

(c) 1 and 3 only

(d 1,2 and 3

9% Consider the following :

1. Carbon monoxide
2. Methane

3. Ozone

4. Sulphur dioxide

Which of the above are released into
atmosphere due 1o the burning of

crop/biomass residue?

2] 1 and 2 only

M 3 and 4 only

(@ 1,2 3and4

QRN PIED:
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.

~ Sea Bordering country
Adriatic Seq Albania
; 2. Black Seq Croatia
- Caspian geqy Kazakhstan
- Mediterranean Sea Morocco
- Red Seg Syria
Which of the

pairs given above are
P Correctly matched?

(a) 1, 2 and 4 only
(b) 1, 3 and 4 only
(¢) ,2 and 5 only

(1 1, 2, 3, 4 and 5§

largest exporter of 1
the last five years?

(@) China
o wzlidia

() Myanmar
(d) Vietnam

Consider the following pairs :

~ Glacier River
., Bandarpunch Yamuna
'. Bara Shigri Chenab
3. Milam Mandakini
4. Siachen Nubra
i Manas

of the pairs given above are
ly matched?

/99. In India, the use of carbofuran, meth{:
parathion, phorate and triazophos
viewed with apprehension. These
chemicals are used as

(af " pesticides in agriculture
(b) preservatives in processed foods
(c) fruit-ripening agents

(d) moisturising agents in cosmetics

100. Consider the following statements :

1. Under Ramsar Convention, it is

mandatory on the part of the
Government of India to protect and
conserve all the wetlands in the
territory of India,

The Wetlands (Conservation and
Managernent) Rules, 2010 were
framed by the Government of India

based on the recommendations of
Ramsar Convention,

The Wetlands (Conservation and
Management) Rules, 2010 also
éncompass the drainage area or
catchment regions of the wetlands
as determined by the authority.

Which of the statements given above
is/are correct?

(@ 1 and 2 only
(b) 2 and 3 only
(c).) 3 only

(d 1,2 and 3

(PT.0.
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